Difference of two squares (HKMO Classified Questions by topics) Created by Mr. Francis Hung

1983 FG10.1 1993 F12.2
12-1=0x2 12-1=0x2 F b=126>-136% > F b chig o
22-1=1x3 22-1=1x3 If b =126 — 1362, find the value of b .
32-1=2x4 32-1=2x4 1996 FIS.4
42-1=3x5 42_-1=3x5 e s 2 —1=257x259 - F d i & o
................................................ It is known that &2 — 1 = 257x259. Find the positive value of 4.
A*—1=3577 x 3579 A*—1=3577 x 3579 1;927 F?‘:(; 9710009 » £ g thie
F A>0> 4 miE o If 4> 0, find the value of 4. a = U -aEme e
1984 FI1.1 1987 FSG.1 It is given that a = 103x97x10009, find the value of a.
% 100a =352 152+ % a hi - 1999 FIS.4
If 100a = 35 — 152, find the value of a. % i:(l_izj@_iz]...@_%j v Fd 2 g e
1984 FSG.2 114 2 3 57
2 —_ = b 2 —_ = b 2 — = b b 2 —_ = o
1' 1 O><2‘ 2’/1 1x323—1=2x4 > ... b*—1=135%x137 If i: 1_% 1_% 1_% . find the value of d .
= b>0 Fbenig o 114 2 3
12-1=0x2,22—-1=1x3,32—1=2x4, ... ,b>*—1=135x137. 2000 FG2.1
If 5 > 0, find the value of 5. ek 191 A B FT 32 £ magidP )T RgiE o
1986 FG10.4 2014 FG3.1 If 191 is the difference of two consecutive perfect squares,
s 1 1 1 1 PN find the value of the smallest square number, a .
S=l1-S|1-=>|1-= ||1-— | » &S« ° ’
i ( 2’ j( 3 )( 42) ( 1on fo5 i 2008 FGS.1
++ 5 (V2008 + 42007 [ x (1/2007 — 2008 [ i
If S :(1_ izj(l—izj(l—izj---(l— iz] , find the value of S'. f ( i ) X( 20)07 U 2007
3 4 Calculate the value of ( 2008 + +/ 2007) x (\/2007 - \/2008) .
F 50m=54—4%> fom g o Fce 5 1000000 % — BT #ez B g Lo B¢ T S H L 64 i B
If 50m =542 —42, find the value of m . + ¢ thig o
{92,39 FI2.1 e s If ¢ is the smallest difference between 1 000 000 and a square, where the square
® 4 1000a =852~ 15 » fa enig - is a multiple of 64, determine the value of ¢ .
If 1000a = 85%— 152, find the value of a. 2018 FI2.1
1990 FI13.1 e 7778222232 2 ¥} #F 2 fr L a > K a thig .
# 998a+1=999" > fadi Determine the value of a, where a is the sum of all digits of 77782 —22232.
If 998a+1=9992 find the value of a. 2023 FI3.2
1991 FI12.1 > o
£ a?-1=123x125 2 a>0> fq i o ok B:\/(401) ~100x16 » & B i o
Ifa>— 1 =123x125 and a > 0, find the value of a . IfB = \/( 401)’ 10016 , find the value of B .
1992 FI2.4 ’

Fd=12%-1422 > F d #1iE -
If d=12%-1422, find the value of d .
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Difference of two squares (HKMO Classified Questions by topics)

Answers
1986 FG10.4 2014 FG3.1
1983 FG10.1 |1984F1L.1 1987FsG.1| 1984 FSG.2 11 1988 FI2.2
3578 10 136 20 58
1989 FI2.1 1990 FI3.1 1991 FI2.1 1992 FI2.4 1993 FI2.2
7 1000 124 572 ~2620
1996 FIS.4 | 1997 FG4.1 1999 FIS.4 | 2000 FG2.1 | 2008 FGS.1
258 99999919 58 9025 ~1
2017 FI2.3 2018 FI2.1 2023 FI3.2
15936 40 399
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